(1) Consider the following function,
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(b) Use your sketch to find the following values 0
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(2) Calculate f;g |2 (x + 2)| dz. Show explicitely how you use the laws of integrals to calculate this,
splitting up the integral into two pieces appropriately.

Lo £ 220 264 20
Izwﬁ;g el £ + 220
( “2(7”4/ A ?()q =

/Z (/7<4,2)/: 2 7@2) /,’4 K= 2
2G) , A AEL

., /
/E/X*Jdb( > - /lz/mu(x . (oM~ ¢ Gz by
| / g -2

3: | ,1—;0 . ,fo{ﬁ”,}:,[,%@




(3) Consider the function graphed below: in each of the following,
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(a) Estimate the value of f()l Of (z) dz using a Riemann sum with 5 sub-intervals taking the sam
points to be left endpoints.
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(b) Estimate the value of folo f (z) dz using a Riemann sum with 5 sub-intervals taking the sample
points to be right endpoints.
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(c) Estimate the value of folo f (z) dz using a Riemann sum with 5 sub-intervals taking the sample
points to be midpoints.
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(d) Estimate the value of fow |f (z)| dx using a Riemann sum with 5 sub-intervals taking the sample
points to be left endpoints.
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(e) Estimate the value of f010 | f (z)| dx using a Riemann sum with 5 sub-intervals taking the sample
points to be right endpoints.
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(f) Estimate the value of ]010 | f (z)| dz using a Riemann sum with 5 sub-intervals taking the sample
points to be midpoints.
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(4) Consider ffz x2dx
(a) Estimate the value of the above integral using a Riemann sum with 3 sub-intervals taking the

sample points to be left endpoints.
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) Estimate the value of the above integral using a Riemann sum with 3 sub-intervals taking the

sample points to be right endpoints.
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(c¢) Estimate the value of the above integral using a Riemann sum with 3 sub-intervals taking the

sample porats 10 be midnome.
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(d) Write the value of the above integral as a limit of Riemann sums
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(5) What definite integral is equal to lim, oo > p_; ﬁ . 27
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(6) Suppose the values of a function are given by the fO\HOV\’/:iIIlg table

x 6 |7 (819101112
flx)y|12|11|9|7| 3 |-2]-5
(a) Write and evaluate a Riemann sum with 3 subdivisions using left endpoints as sample points

to estimate fﬁlz f(z) dx
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) Write and evaluate a Riemann sum with 3 subdivisions using right endpoints as sample points
to estimate f6 f(x) dx
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(c) Write and evaluate a Riemann sum with 3 subdivisions using midpoints as sample points to
estimate f612f (x) dx

(FC)+ 4 ()~ H) 2 7
= (ll+7+02)2

D

(7) Suppose f2 c)dx = 7 and f2 (z)dx = 12. Find f f (z) dx. Show explicitely how you use the
properties of 1ntegr als to find this.
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(8) True or false?
7 x 7 o
Falp (a) [y we*dz =z [ e®dx
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“Trag (d) z is a dummy variable in foo cos? (z) dx
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